

**ON SUBCLASSES OF ANALYTIC FUNCTIONS INVOLVING
 q -DERIVATIVE OPERATOR WITH NEGATIVE COEFFICIENTS**

N Shilpa and S Latha*

Department of Mathematics,
JSS College of Arts Commerce and Science,
Ooty Road, Mysuru - 570025, INDIA

E-mail : drshilpamaths@gmail.com

*Department of Mathematics,
Yuvaraja's College,
University of Mysore, Mysore - 570005, INDIA

E-mail : drlatha@gmail.com

(Received: Jul. 24, 2023 Accepted: Dec. 15, 2023 Published: Dec. 30, 2023)

Abstract: The purpose of this work is to introduce and study new subclasses of analytic functions using a new q -derivative operator. This operator generalizes the operators introduced by Al-Oboudi, Catas, Cho and Kim, Cho and Srivastava, Maslina Darus and R W Ibrahim, Sălăgean, Uralegaddi and Somanatha. We investigate coefficient bounds, growth, distortion and closure theorems for the functions belonging to these classes. We also give a result which unifies radii of close-to-convexity, starlikeness and convexity.

Keywords and Phrases: q -derivative operator, coefficient bounds, growth, distortion and closure theorems.

2020 Mathematics Subject Classification: 30C45.

1. Introduction

We begin by denoting by \mathcal{S} the class of functions $f(z)$ of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad (1.1)$$

which are analytic and univalent in the open unit disc $\mathcal{U} = \{z : z \in \mathcal{C} \text{ and } |z| < 1\}$.

First we briefly recall the notation of q -derivative operator which plays vital role in the theory of hypergeometric series, quantum physics and in the operator theory. Many known researchers and applied scientists have made valuable contributions in the modifications of the q -calculus and generalizations. In recent years extensions and generalization of q -calculus have witnessed a significant evolution, due to large range of application many researchers have explored q -calculus in depth. The first application and usage of the q -calculus was introduced by Jackson [12], [13]. For a function $f(z) \in \mathcal{S}$ the Jackson's q -derivative is defined as [11]

$$\mathcal{D}_q f(z) = \frac{f(z) - f(qz)}{(1-q)z}, \quad (z \neq 0, 0 < q < 1). \quad (1.2)$$

From equation (1.2) it is clear that if $f(z)$ and $g(z)$ are two functions, then

$$\mathcal{D}_q(f(z) + g(z)) = \mathcal{D}_q f(z) + \mathcal{D}_q g(z). \quad (1.3)$$

$$\mathcal{D}_q(cf(z)) = c\mathcal{D}_q f(z). \quad (1.4)$$

We note that $\mathcal{D}_q f(z) \rightarrow f'(z)$ as $q \rightarrow 1^-$, where $f'(z)$ is the ordinary derivative of the function $f(z)$. Further by (1.2) the q -derivative of the function $h(z) = z^k$ is as follows:

$$\mathcal{D}_q h(z) = [k]_q z^{k-1} \quad (1.5)$$

where $[k]_q$ is given as:

$$[k]_q = \frac{1 - q^k}{1 - q} \quad (0 < q < 1). \quad (1.6)$$

Note that $[k]_q \rightarrow k$ as $q \rightarrow 1^-$, therefore in view of equation (1.5), $\mathcal{D}_q h(z) = h'(z)$ as $q \rightarrow 1^-$, where $h'(z)$ denotes the ordinary derivative of the function $h(z)$ with respect to z .

The q -derivative of the function $f(z)$, given by equation (1.1) is defined as

$$\mathcal{D}_q f(z) = 1 + \sum_{k=2}^{\infty} [k]_q a_k z^{k-1} \quad (0 < q < 1) \quad (1.7)$$

where $[k]_q$ is given by (1.6).

Motivated by the earlier investigations [1, 2, 14, 15, 21] and with the aid of the Jackson q -derivative, we define the new operator $\mathcal{D}_{\delta, \lambda, l, q}^n f(z)$. For $f(z) \in \mathcal{S}$, $0 < q < 1$, $\delta, \lambda, l \geq 0$, $n \in N_0 = N \cup \{0\}$.

$$\begin{aligned}
\mathcal{D}_{\delta,\lambda,l,q}^0 f(z) &= f(z). \\
\mathcal{D}_{\delta,\lambda,l,q}^1 f(z) &= (l + \delta - \lambda)f(z) + (1 - \delta + \lambda)zD_q f(z) = \mathcal{D}_{\delta,\lambda,l,q} f(z). \\
&\cdot \\
&\cdot \\
&\cdot \\
\mathcal{D}_{\delta,\lambda,l,q}^n f(z) &= \mathcal{D}_{\delta,\lambda,l,q}(\mathcal{D}_{\delta,\lambda,l,q}^{n-1} f(z)).
\end{aligned}$$

$$\mathcal{D}_{\delta,\lambda,l,q}^n f(z) = z + \sum_{k=2}^{\infty} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n a_k z^k. \quad (1.8)$$

Note that as $q \rightarrow 1^-$ we obtain the differential operator studied by Latha and Shilpa in [16]. As $q \rightarrow 1^-$ and for suitable choices of parameters $\mathcal{D}_{\delta,\lambda,l,q}^n f(z)$ reduces to various operators studied by many authors Al-oboudi [3], Catas [6], Cho and Kim [7], Cho and Srivastava [8], Maslina Darus and Rabha W Ibrahim [9], Sălăgean [19], Uralegaddi and Somanatha [22].

Making use of the new q -derivative operator $\mathcal{D}_{\delta,\lambda,l,q}^n f(z)$ we introduce a new subclass of analytic functions as follows.

Definition 1.1. A function $f(z) \in \mathcal{S}$ is said to be in the class $\mathcal{L}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ if it satisfies the following condition

$$\begin{aligned}
&\Re \left\{ \frac{zD_q(\mathcal{D}_{\delta,\lambda,l,q}^n f(z))}{(1 - \gamma)\mathcal{D}_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(\mathcal{D}_{\delta,\lambda,l,q}^n f(z))} - \alpha \right\} \\
&> \beta \left| \frac{zD_q(\mathcal{D}_{\delta,\lambda,l,q}^n f(z))}{(1 - \gamma)\mathcal{D}_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(\mathcal{D}_{\delta,\lambda,l,q}^n f(z))} - 1 \right|
\end{aligned} \quad (1.9)$$

where $0 < q < 1$, $-1 \leq \alpha \leq 1$, $\beta \geq 0$, $0 \leq \gamma < 1$, $z \in \mathcal{U}$.

Let $\mathcal{T} \subset \mathcal{S}$ denote the family of functions defined in the open unit disc \mathcal{U} , introduced and studied by Silverman [20] which are of the form

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \quad a_k \geq 0. \quad (1.10)$$

We further let $\mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma) = \mathcal{L}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma) \cap \mathcal{T}$.

By specializing the parameters we can obtain several subclasses studied in [3], [4], [5], [10] and [18].

2. Main Results

We assume that $-1 \leq \alpha < 1$, $\beta \geq 0$, $0 < q < 1$, $n \in N_0$, $0 \leq \gamma < 1$, $f(z) \in \mathcal{T}$ and $z \in \mathcal{U}$

Theorem 2.1. *A function $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ if and only if*

$$\sum_{k=2}^{\infty} \{[k]_q(1+\beta) - (\alpha+\beta)[1+\gamma([k]_q-1)]\} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_k \leq 1-\alpha. \quad (2.1)$$

Proof. First we assume that (2.1) holds. Then it is sufficient to show that

$$\beta \left| \frac{zD_q(D_{\delta,\lambda,l,q}^n f(z))}{(1-\gamma)D_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(D_{\delta,\lambda,l,q}^n f(z))} - 1 \right| - \Re \left\{ \frac{zD_q(D_{\delta,\lambda,l,q}^n f(z))}{(1-\gamma)D_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(D_{\delta,\lambda,l,q}^n f(z))} - 1 \right\} \leq 1-\alpha.$$

Note that

$$\begin{aligned} & \beta \left| \frac{zD_q(D_{\delta,\lambda,l,q}^n f(z))}{(1-\gamma)D_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(D_{\delta,\lambda,l,q}^n f(z))} - 1 \right| \\ & - \Re \left\{ \frac{zD_q(D_{\delta,\lambda,l,q}^n f(z))}{(1-\gamma)D_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(D_{\delta,\lambda,l,q}^n f(z))} - 1 \right\} \\ & \leq (1+\beta) \left| \frac{zD_q(D_{\delta,\lambda,l,q}^n f(z))}{(1-\gamma)D_{\delta,\lambda,l,q}^n f(z) + \gamma zD_q(D_{\delta,\lambda,l,q}^n f(z))} - 1 \right| \\ & \leq \frac{(1+\beta) \sum_{k=2}^{\infty} ([k]_q-1)(1-\gamma) \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_k}{1 - \sum_{k=2}^{\infty} [1+\gamma([k]_q-1)] \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_k}. \end{aligned}$$

The last expression is bounded above by $(1-\alpha)$ since (2.1) holds.

Conversely if $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ and z is real, then

$$\frac{1 - \sum_{k=2}^{\infty} [k]_q \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} [1+\gamma([k]_q-1)] \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_k z^{k-1}} - \alpha$$

$$\geq \beta \left| \frac{\sum_{k=2}^{\infty} ([k]_q - 1)(1 - \gamma) \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} [1 + \gamma([k]_q - 1)] \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n a_k z^{k-1}} \right|.$$

Letting $z \rightarrow 1^-$ along the real axis, we get the desired inequality (2.1). Which completes the proof.

Corollary 2.2. For $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$, we have

$$a_k \leq \frac{1 - \alpha}{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n}, \quad (k \geq 2).$$

and

$$f(z) = z - \frac{1 - \alpha}{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n} z^k, \quad (k \geq 2) \quad (2.2)$$

gives the sharpness.

3. Growth and Distortion Theorems

Theorem 3.1. Let $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$. Then for $0 \leq i \leq n$,

$$|D_{\delta, \lambda, l, q}^i f(z)| \geq |z| - \frac{1 - \alpha}{\{[2]_q(1 + \beta) - (\alpha + \beta)(1 + \gamma q)\} \left[1 + \left(\frac{1 - \delta + \lambda}{l + 1} \right) q \right]^{n-i}} |z|^2 \quad (3.1)$$

and

$$|D_{\delta, \lambda, l, q}^i f(z)| \leq |z| + \frac{1 - \alpha}{\{[2]_q(1 + \beta) - (\alpha + \beta)(1 + \gamma q)\} \left[1 + \left(\frac{1 - \delta + \lambda}{l + 1} \right) q \right]^{n-i}} |z|^2. \quad (3.2)$$

The equalities in (3.1) and (3.2) are attained for

$$f(z) = z - \frac{1 - \alpha}{\{[2]_q(1 + \beta) - (\alpha + \beta)(1 + \gamma q)\} \left[1 + \left(\frac{1 - \delta + \lambda}{l + 1} \right) q \right]^{n-i}} z^2. \quad (3.3)$$

Proof. We have $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ if and only if

$D_{\delta, \lambda, l, q}^i f(z) \in \mathcal{TL}^{n-i}(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ where

$$D_{\delta, \lambda, l, q}^i f(z) = z - \sum_{k=2}^{\infty} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^i a_k z^k \quad (3.4)$$

By Theorem 2.1, we have

$$\{[2]_q(1+\beta) - (\alpha+\beta)(1+\gamma q)\} \left[1 + \left(\frac{1-\delta+\lambda}{l+1}\right)q\right]^{n-i} \sum_{k=2}^{\infty} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1}\right]^i a_k \quad (3.5)$$

$$\leq 1 - \alpha$$

that is,

$$\begin{aligned} & \sum_{k=2}^{\infty} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1}\right]^i a_k \quad (3.6) \\ & \leq \frac{1 - \alpha}{\{[2]_q(1+\beta) - (\alpha+\beta)(1+\gamma q)\} \left[1 + \left(\frac{1-\delta+\lambda}{l+1}\right)q\right]^{n-i}}. \end{aligned}$$

From (3.4) and (3.6) it follows that

$$\begin{aligned} |D_{\delta,\lambda,l,q}^i f(z)| & \geq |z| - |z|^2 \sum_{k=2}^{\infty} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1}\right]^i a_k \quad (3.7) \\ & \geq |z| - \frac{1 - \alpha}{\{[2]_q(1+\beta) - (\alpha+\beta)(1+\gamma q)\} \left[1 + \left(\frac{1-\delta+\lambda}{l+1}\right)q\right]^{n-i}} |z|^2 \end{aligned}$$

and

$$\begin{aligned} |D_{\delta,\lambda,l,q}^i f(z)| & \leq |z| + |z|^2 \sum_{k=2}^{\infty} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1}\right]^i a_k \quad (3.8) \\ & \leq |z| + \frac{1 - \alpha}{\{[2]_q(1+\beta) - (\alpha+\beta)(1+\gamma q)\} \left[1 + \left(\frac{1-\delta+\lambda}{l+1}\right)q\right]^{n-i}} |z|^2. \end{aligned}$$

note that the bounds in (3.1) and (3.2) are attained for $f(z)$ defined by

$$D_{\delta,\lambda,l,q}^i f(z) = z - \frac{1 - \alpha}{\{[2]_q(1+\beta) - (\alpha+\beta)(1+\gamma q)\} \left[1 + \left(\frac{1-\delta+\lambda}{l+1}\right)q\right]^{n-i}} z^2, \quad (z \in \mathcal{U}). \quad (3.9)$$

Hence the proof is completed.

4. Closure Theorems

Let $f_i(z)$ be defined, for $i = 1, 2, 3, \dots, m$, by

$$f_i(z) = z - \sum_{k=2}^{\infty} a_{k,i} z^k \quad (a_{k,i} \geq 0, z \in \mathcal{U}). \quad (4.1)$$

Theorem 4.1. Let $f_i(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ for $i = 1, 2, 3, \dots, m$. Then

$$g(z) = \sum_{i=1}^m c_i f_i(z), \quad (4.2)$$

is also in the same class, where $c_i \geq 0$, $\sum_{i=1}^m c_i = 1$

Proof. Using (4.2), we have

$$g(z) = z - \sum_{k=2}^{\infty} \left(\sum_{i=1}^m c_i a_{k,i} \right) z^k. \quad (4.3)$$

Further, since $f_i(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$, we get

$$\sum_{k=2}^{\infty} \{ [k]_q(1+\beta) - (\alpha+\beta)(1+\gamma([k]_q-1)) \} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_{k,i} \leq 1-\alpha. \quad (4.4)$$

Hence

$$\begin{aligned} & \sum_{k=2}^{\infty} \{ [k]_q(1+\beta) - (\alpha+\beta)(1+\gamma([k]_q-1)) \} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n \left(\sum_{i=1}^m c_i a_{k,i} \right) \\ &= \sum_{i=1}^m c_i \left[\sum_{k=2}^{\infty} \{ [k]_q(1+\beta) - (\alpha+\beta)(1+\gamma(k_q-1)) \} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n a_{k,i} \right] \\ &\leq \left(\sum_{i=1}^m c_i \right) (1-\alpha) = 1-\alpha, \end{aligned} \quad (4.5)$$

which implies that $g(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$. This completes the proof.

Theorem 4.2. Let $f_1(z) = z$ and

$$f_k(z) = z - \frac{1-\alpha}{\{ [k]_q(1+\beta) - (\alpha+\beta)[1+\gamma([k]_q-1)] \} \left[\frac{(l+\delta-\lambda) + (1-\delta+\lambda)[k]_q}{l+1} \right]^n} z^k, \quad (k \geq 2) \quad (4.6)$$

then $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$ if and only if

$$f(z) = \sum_{k=1}^{\infty} \mu_k f_k(z), \quad (4.7)$$

where $\mu_k \geq 0 (k \geq 1)$ and $\sum_{k=1}^{\infty} \mu_k = 1$.

Proof. Suppose that

$$f(z) = \sum_{k=1}^{\infty} \mu_k f_k(z) \quad (4.8)$$

$$= z - \sum_{k=2}^{\infty} \frac{1 - \alpha}{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1} \right]^n} z^k$$

then it follows that

$$\sum_{k=2}^{\infty} \frac{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1} \right]^n}{1 - \alpha}.$$

$$\frac{1 - \alpha}{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1} \right]^n} \mu_k$$

$$= \sum_{k=2}^{\infty} \mu_k = 1 - \mu_1 \leq 1. \quad (4.9)$$

By Theorem 2.1, $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$.

Conversely, assume that $f(z) \in \mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$. Then

$$a_k \leq \frac{1 - \alpha}{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1} \right]^n} (k \geq 2). \quad (4.10)$$

Setting

$$\mu_k = \frac{\{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1} \right]^n}{1 - \alpha} (k \geq 2). \quad (4.11)$$

and

$$\mu_1 = 1 - \sum_{k=2}^{\infty} \mu_k, \quad (4.12)$$

note that $f(z)$ can be expressed in the form (4.7). Hence the proof.

5. Some radii for the class $\mathcal{TL}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$

Theorem 5.1. Let $f(z) \in \mathcal{L}^n(\delta, \lambda, l, q, \alpha, \beta, \gamma)$. Then for $0 \leq \rho < 1, k \geq 2$, $f(z)$ is (i). Close -to-convex of order ρ in $|z| < r_1$, where

$$r_1 = r_1(\delta, \lambda, l, q, \alpha, \beta, \gamma, \rho) : \quad (5.1)$$

$$= inf_k \left[\frac{(1 - \rho) \{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n}{k(1 - \alpha)} \right]^{\frac{1}{k-1}}.$$

(ii). Starlike of order ρ in $|z| < r_2$, where

$$r_2 = r_2(\delta, \lambda, l, q, \alpha, \beta, \gamma, \rho) : \quad (5.2)$$

$$= inf_k \left[\frac{(1 - \rho) \{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n}{(k - \rho)(1 - \alpha)} \right]^{\frac{1}{k-1}}.$$

(iii). Convex of order ρ in $|z| < r_3$, where

$$r_3 = r_3(\delta, \lambda, l, q, \alpha, \beta, \gamma, \rho) : \quad (5.3)$$

$$= inf_k \left[\frac{(1 - \rho) \{[k]_q(1 + \beta) - (\alpha + \beta)[1 + \gamma([k]_q - 1)]\} \left[\frac{(l + \delta - \lambda) + (1 - \delta + \lambda)[k]_q}{l + 1} \right]^n}{k(k - \rho)(1 - \alpha)} \right]^{\frac{1}{k-1}}.$$

The result is sharp, for $f(z)$ given by (2.2).

Proof. To prove (i) we must show that

$$|f'(z) - 1| \leq 1 - \rho$$

for $|z| < r_1(\delta, \lambda, l, q, \alpha, \beta, \gamma, \rho)$

From (1.10), we have $|f'(z) - 1| \leq \sum_{k=2}^{\infty} k a_k |z|^{k-1}$.

Thus $|f'(z) - 1| \leq 1 - \rho$, if

$$\sum_{k=2}^{\infty} \frac{k}{1 - \rho} a_k |z|^{k-1} \leq 1. \quad (5.4)$$

But, by Theorem 2.1, (5.4) will be true if

$$\left(\frac{k}{1-\rho}\right) |z|^{k-1} \leq \frac{[k]_q(1+\beta) - (\alpha+\beta)[1+\gamma([k]_q-1)] \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1}\right]^n}{1-\alpha}$$

that is, if

$$|z| \leq \left[\frac{(1-\rho) \{[k]_q(1+\beta) - (\alpha+\beta)[1+\gamma([k]_q-1)]\} \left[\frac{(l+\delta-\lambda)+(1-\delta+\lambda)[k]_q}{l+1}\right]^n}{k(1-\alpha)} \right]^{\frac{1}{k-1}} \quad (5.5)$$

which gives (5.1). To prove (ii) and (iii) we have to show that

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \rho \quad (5.6)$$

for $|z| < r_2$,

$$\left| \frac{zf''(z)}{f'(z)} - 1 \right| \leq 1 - \rho$$

for $|z| < r_3$, respectively, by using arguments as in (i).

Remark 5.2. By taking $l = 0$, $\alpha = 1$ and as $q \rightarrow 1^-$ we obtain the results in [17].

6. Conclusion

q -calculus has significant importance and applications in various fields of Science and Engineering. In this paper we introduce and study new subclasses of analytic functions using q -derivative operator. We find the coefficient bounds, growth, distortion and closure theorems for the functions belonging to these classes. Also we obtain a result which unifies radii of close-to-convexity, starlikeness and convexity. The results obtained from this study will enrich the theoretical foundation of this field and open new avenues for mathematical inquiry and applications. The results would generalize and improve the earlier results by several authors.

References

- [1] Agarwal P., Dragomir S. S., et al., q -Integral inequalities associated with some fractional q -integral operators, J. Inequal Appl., 345 (2015).
- [2] Ahmad B., Khan M. G., Darus M., et al., Applications of some generalized Janowski meromorphic multivalent functions, Journal of Mathematics, 13 (2021).

- [3] Al-Oboudi F. M., On univalent functions defined by a generalized Sălăgean operator, *Internat. J. Math. and Math. Sci.*, 27 (2004), 1429-1436.
- [4] Aouf M. K. and Mostafa A. O., Some properties of a subclass of uniformly convex functions with negative coefficients, *Demonstratio Math.*, 41 (2) (2008), 353-370.
- [5] Aouf M. K., Shamandy A., Mostafa A. O. and El-Emam F., Subordination results associated with σ -uniformly convex and starlike functions, *Pro. Pakistan Acad. Sci.*, 46 (2) (2009), 97-101.
- [6] Catas A., On certain classes of p -valent functions defined by multiplier transformations, *Proceedings of the International Symposium on Geometric Function Theory and Applications*, Istabul, Turkey, 2007.
- [7] Cho N. E. and Kim T. H., Multiplier transformation and strongly close - to - convex functions, *Bull. Korean. Math. Soc.*, 40 (2003), 399-410.
- [8] Cho N. E. and Srivastava H. M., Argument estimates of certain analytic functions defined by a class of multiplier transformations, *Math. Compt. Modelling.*, 37 (1-2) (2003), 39-49.
- [9] Darus M. and Ibrahim Rabha W., On new subclasses of analytic functions involving generalized differential and integral operators, *European Journal of Pure and Applied mathematics*, Vol. 4, No. 1 (2011), 59-66.
- [10] Govindaraj M. and Sivasubramanian S., On a class of analytic function related to conic domains involving q -calculus, *Analysis Math.*, 43 (3), (5), (2017), 475-487.
- [11] Jackson F. H., On q -functions and a certain difference operator, *Trans. Royal. Soc. Edinburgh.*, 46 (1908), 253-281.
- [12] Jackson F. H., On q -definite integrals, *Quart. J. Pure Appl. Math.*, 41 (1910), 193-203.
- [13] Jackson F. H., q -difference equations, *Amer. J. Math.*, 32 (1910), 305-314.
- [14] Jain S., Agarwal P. et al., Fractional Hypergeometric Functions, *Symmetry*, 14(4) (2022), 714.

- [15] Khan B., Liu Z. G., Srivastava H. M., et al., Applications of higher order derivatives to subclasses of multivalent q -starlike functions, Maejo. Int. J. Sci. Technol., 15(1) (2021), 61-72.
- [16] Latha S. and Shilpa N., On generalized differential and Integral operators, International Journal of pure and applied mathematics, Vol. 117, No. 20 (2017), 179-186.
- [17] Mostafa A. O., Aouf M. K., El-Morsy R. E., certain subclasses of analytic function associated with a generalization of q -Salagean operator with negative coefficients, Electronic Journal of Mathematical Analysis and Applications, 9(2) (2021), 60-76.
- [18] Rosy T. and Murugusundaramoorthy G., Fractional calculus and their applications to certain subclass of uniformly convex functions, Far East J. Math. Sci., (FJMS), 115(2) (2004), 231-242.
- [19] Sălăgean G. S., Subclasses of univalent functions, Lecture notes in Math. Springer - Verlag, Berlin, 1013 (1983), 362-372.
- [20] Silverman H., Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51 (1975), 109-116.
- [21] Srivastava H. M., Operators of basic(or q -)calculus and fractional q -calculus and their applications in geometric function theory of complex analysis, Iran. J. Sci. Technol. Trans. A. Sci, 44 (2020), 327-344.
- [22] Uralegaddi B. A., Somanatha C., Certain classes of univalent functions, Current Topics in Analytic Function Theory, World Scientific Publishing Company, Singapore, (1992), 371-374.